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PART -1
ARITHMETIC : 40 Marks
Instructions : Each question under this part carries ONE mark. Please read
each question carefully and answer them by selecting the right one out of the
multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers.

1. The average age of 10 students and their teacher is 20 vears. If the teacher's age
Is excluded, their average age reduces by 2 years. What is the teacher’s age ?
10 @8 Q19 G €AAIRER J9e6R QAAUQR A 20 9F | 23 dgesq 09 QIQ

QaIQI¥, 6069 6QNIRER QIAIRIA 904 2 o Q@AY | 6060 dsesTR 90 €950

1wrhmel Wkax] bw 4

(A) 30 years (B) 35 years
(C) 40 years (D) 44 years

2. [fdA=5B =06C,thenfind A:B:C

(A)15:12:10 (B) 12:10:8

(C)6:5:4 (D) None of these

G 4A = 5B =06C, €069 A : B : CER6Q 7

(A)15:12:10 (B) 12:10:8

(C)6:5:4 (D) YAIRE MNQ 6660 Q6T

3. ‘A’ starts a business with an investment of Rs. 2,500, Seven months Luer, B3
joins with *A’ as a partner. After a year, the profits are divided m the ratio of 3:4.
" How much did *B" contribute ?

‘AT 2,500 061 QB Gce8 @R Yo IeaId dQf 08 | i0 AIQ A "B” YK

PPAIOI QIER ‘A’ AQ Qe 328 | 6TV Q8 QLR AIQQ 3 : 4 anaveq @i
QeI | 6069 ‘B’ 6860 08 f6eda QR |

(A) Rs. 7,000 (B) Rs. 8,000
~(C) Rs. 10,000 (D) Rs. 12,500

4. A waitch is sold for Rs. 770 at a loss ol 30%. For how much should it be ~old 1o
gain 20% ?
cqiB Qg 770 SRR B8 GER GORF1 30 8Q QU | 6960 YRIT 6860 TRIEQ A

QEM aeae! 20 N QA7

(C) Rs. 1,230 D) ke 1320
CRE-2021/A . -
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. , . ) _ — ’. If the WAL
5. ‘A’ can finish a work in 18 days. ‘B’ is twice a8 efficient as ‘A y .

together, in how many days, the work will be completed ?
(A) 12 days (B) 9 days

(C) 6 days (D) None of these ~
‘A’ 66189 @lalq 18 Geca Q@I | ‘A’ acasl ‘B’ 9ad og | 9@ €anIeT
QIFQ Al AIEKR 2O A0R, €968 6960 A6 a10iG 668 629 |

(A) 12 days " (B) 9 days ' |

(C) 6 days (D) UFIQ& FANNQ 6960 R6Q

6. A cistern is normally filled in 6 hours, but it takes 3 hours longer (0 fill because
of a leak at its bottom. If the cistern is full, the leak will empty itin:
(A) 18 hours ‘ (B) 24 hours
(C) 12 hours (D) None of these -
CaISY Qg AlIREes 6 AeIEa & 99, &g ¥ AraIaca 20 fal aleeq val ad
629l QIE 2uQ 3 A aAc AIse | 95 Qaf qdelv, coce 808 €ase AR YY1

SR |98 ?
(A) 18 hours (B) 24 hours
(C) 12 hours (D) YSIQ6 FItHQ 6R616 68

7. A 150 metres long train passes a bridge at rate 90 km/h in 20 seconds. What is
the length of the bridge ?
(A) 650 m (B) 350 m
(C) 500 m (D) None of these
150 foq cadl ads caIEY 69R A&y gf 90 @4. 6966Q 66 Q4 691G 6@ 20
66RE6R UTFA F6A | 6069 CAINGA cBal ease 7 - .
(A) 650 m (B) 350 m
(C) 500 m | (D) VIR FRINQ 6006 Q6%

8. A boat man can row 36 km in downstream in 4 hours. If the speed of the current
is 3 km/h, then find in what time will he be able to cover 6 km upstream ?

acel Q101 CII0Q IRRASA 4 AAIER 36 8.7, M AIGAINS | 99 69I96 A% gF
ca 3 B4, QU. 6959 6760 AFTEA 68 69109 9ERREA 6 @, 209 edaIRes 7

(A) 8 hours (B) 6 hours ((;) 2 hours (D) 4 hours

9. From a pointona circular tract of 12 km long, A, B and C started running in the
same direction at the same time with speed of 4 km/h, 3 km/h and 2 km/h

respectively. Then on the starting point, all three will meet again after :

ceIEN Qaiala Ceica e @9Q A, B I¢° C dflf dA96Q 6 AR GA6q Qeliacn
QQGD 4 GF. 3 AF. 6 2 &4, €6 6AIG6M | 6369 €R6H AL Arg Haqg
21r] FQ6Q caGER

(A) 3 hours (B) 4 hours (&) 6 hours (D) 12 hours
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10. How much water be added to 16 litres of milk worth Rs. 6.75 per litre so that the
value of the mixture will be Rs. 4.50 per litre 7 '

R A0 99 6.75 ¢ ¢

0% e 1R1.89196Q 16 Req S106Q 6a6o €IE Fdlacn Faea aa:
AR 98 4.50 ol ce? ‘ R

(A) 8 litres (B) 10 litres | (C) 6 litres (D) 12 litres

11. Ratio of present age of Amit and Rakesh is 7:5. Amit will be 36 years old after 8
years. How old Rakesh is now ? ‘
A0 ¥9° QIEREQ QEIFIR QAAQ HURAIS 7:5 266 | 8 @F A afien Qud 36 6F
ELQ | 696RQ QUERERA QAR QUL EREQ 7 | '
(A)28 years (B) 20 years (C) 21 years (D) 15 years

12.

A sum of money at simple interest becomes five times in, 24 years. The rate of
interest per annum is :

(A) 20%% ' o (B) 182%

©) 1625% (D) Nong of these

cFad ¥a ARYe dORdY QIa5a 24 RFEQ 5 GE QY | 6960 ARGHQ QIR 666 7
(A) 202% | A o (B)18%%

(C) 16:% (D) UFIRE ARMQ 6Rad G640

13. At what percent per annum a sum of Rs. 500 will amount to Rs. 864 in 3 years, il
the interest is compounded annually ?

cad 0098 Qv 2laca 500 Gal 3 @Eq 864 G& 629, 8@ adQ 2cq g QAR
QAU ?

(A) 10% (B) 15% (C) 25% (D) 20%

14. Rahul invested 20% more than Bikash. Bikash invested 20% less than Kamal. 1f
' the total Sll,lm of their investment is Rs. 8,280, how much amount did Kamal
invest ? . ~ ]
Q916 aeasdl ngﬁ q9ael 20 YR Q@w P6RE @@ | QR Z?J\Gg@l Q@Iél Q?@@I _f)
od B Bcad acm | 90 afeg ¥eg QIQER 8,280 GGl & A6Ad GOKS, 606a
aoln 6ace 9B Fced QGEeR ?

15. An article is marked 50% above thé cost price and it is sold at a discount of 40% .
What is the gain or loss percentage ? s 3
(A) 10% gain (B) 10% loss (C) 15% gain (D) 15% loss
169 qoia AGe AR VelQ 94 FRI0IQ G091 SO ZJ@ V" YUY A9aal 40
8Q16 Gelaia 98 QAUERI | €o6R €03l 6@EQ mlfﬂ ql 86 6gQ 7 )
(A) 10% QIR (B) 10% €6 (C) 15% WS (D) 15% §&

e
CRE-2021/A PO,




6

16. Fill in the missing number in the series 5, | 1, 19,29, ===
> 11.19.29, - 21090Q 20086 ead gas Qq |

(A) 31 (B) 52 () 41 (D) 51
17.  Sum the series 40+39+38+ ......... + 11.

40+39+38+ ... + 11 AQQAQ €dIgicR 6a6Q ?

(A) 820 (B) 780 - (C) 775 (D) 765

18. If the area of a triangle is 250m” and the ratio of the base and the height is 4 : 5,
then find its height.
a8 6aIGY GQea sseem 250 o6l d, ue° YQIQ Q7 G aRdlq AQAIe 4 1 5 ¢
606Q VQIQ QP9I 6R6Q ?

(A) 25m (B) 20m (C) 30m (D) 24m

19.  The length of a rectangle is increased by 25%. By what per cent should the width
be decreased to maintain the same area ? ‘ .
CAITY 21A0689a Adig G001 25 98 faICIV | YRIQ 929 deR0l R 98
QEM CIQTR AAIR QGQ 7 ’
(A) 33:3% “(B) 20% (C) 25% (D) 22%%

20. The diameters of two concentric circles are 14 cm and 12 ¢cm. The area of the

region between them 1s :
arceq Gda 0ad QaQ i1 SeIge 14 68, G 12 6af. | canIpe AR4ea Eal

CIRQ CIQER 6Q6@ ?
2 2 _ 5
(A) 4 cm’ (B) 8 cm’ (C) 13mcm (D) 521 cm

The volume of a cube is 512 cm’. The total surface area of the cube is :

21. |
¥e dFQeQ dech 512 QAREA.F. | 606Q YQIQ 4G JEORA SR 660 7
(A) 729 cm® (B) 486 cm’ (C) 294 cm® (D) 384 cm?

22. A solid piece of iron whose length, breadth and height are 44cm, 42cm and 21em

respectively is moulded into a sphere. The radius of the sphere is :
cad. gg 6 21 6af. a9l ds ve Q0e QRIveq eanig

4 cad. caal 42 3 3
44 ¢afl. ¢0a 66 QaIEN | 6660 CAIRAEA 1Al 6960 ?

€lIEY 6olIARER &l

(A) 2lcm (B) 35cm (C) 42em (D) 49¢m
. 23. \/’§+\f§ + \/E—\fi — .7

V5-v3  V5+V3

(A) 16 (B) 8 © 1 (D) 2v/15

CRE-2021/A
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a4, Ifa:b=2:3, then find (5a - 2b) : (a + 3b)
g8 a:b=2:3Q% €96Q (5a-2b): (a+ 3b) 6aeo 7

(A)3:2 (B) 11:4 (C)4: 1] (D) 1: |
25. 2715x\(§)+81—71=?
(A1 S ®)Y (C) 27 (D) 81

26. Which of the following numbers is a perfect square number ?
FARGC ASHIAIRE NG 6RAE EaITY adad a7

(A) 2.56 (B) 0.004 - (©) 0.030 (D) 12.1

97. What is the smallest number by which 10976 must be divided to make it a pertect

cube ?
[alo) Yo a°6Hl Qu 10976 @ @l QEm 1% fAllaN q@a@ gl £QIQL 0e 7

(A)2 (B) 4 ©7" (D) 8

28. 1f 11 eggs are bought for Rs. 10 and 10 eggs are sold for Rs. 11, what is the
* percentage of gain or loss ?
(A) 20% loss (B) 20% gain (C) 21% gain, (D) 21% loss

gd 10 0aicq 11 0 2gl Galang 6 11 G16a 10 § Ugl 85 aqiard, 6ese €osd.
CR60 Al QI 96 689 7

(A)20% 86 - (B) 20% W& (C) 21% QA (D) 21% &8

29. 10 examiners can evaluate 2000 answer sheets in § days. In how many days. 12
examiners can evaluate 3000 answer sheets ?
10 96 gois@ 8 Gaca 2000 ¢liel gatiaw Q008 | 6069 12 Q4 AQISG QLR
Beca 3000 16! ARYIER QGaIRLe ?
(A) 20 days (B) 15 days (C) 13- days (D) 10 days

30. How many numbers Lip (0 400 are divisible by 5 and 7 together ?
400 aaa €RE0IT el @Ee, 5 ¥a° 7 QA FaIE Bes 7
(A) 1L (B) 10 ©) 9 (D) 12

31. The difference between 90% and 75% of & number is 225. Then find out 82% of
the number.
61T el G996l 90 Y FeQQl 75 FRHEA BRQ 225 U6E | 606Q @enifa
ARQ| 82 660 7 \
(A) 2250 (B) 1230 (C) 1500 (D) 1200

CRE2021/p )
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32.

33.

34.

35.

36.

37.

38.

”AiB=4:521ndB:C=7:8,lhcnﬁndA:C

GG A:B=4:590° B:C=7:8.6960 A:CERER
(A) 5235 (B) 32135
©7:10 (D) 10:7

What is the smallest number which should be added to 7200 to make the sum &
perfect square number ?

7200 60 696 FQOF QPEHl 6aICl @6m EQIGITr T qeladl aetl- 629 7
(A) 196 (B) 15 (C) 50 (D) 25

The ratio of two numbers is 5 : 6 and their H.C.F. is 6. Their LCM.is:
QRG @eHIQ 2QaIe 5 : 6 ¢ ARG 6.4l 6 co | 6050 @dl 20 Adlel
6Q6Q ? '

(A) 180 (B) 90 (C) 60 (D) 30

If% of % of % of a number is 270, then 40% of the number will be :

08 Iy etia = Q2@ sade 270 g0, §560 cad orQ 6999 40 640
629 7

(A) 810 - (B) 324 (C) 135 (D) 108

Three numbers are in the ratio of 3 : 4 : 5 and their average is 36. The largest
number 18 :

5cqIG eeMIQ 2Qale 3 :4:5C carleea QIAIQIA 36 266 | 6662 Q9 QEHIT
€260 7

(A)s4 (B)45 (C) 36 (D) 27

What is the smallest number which when decreased by 5 is divisible by 16, 24, 30
and 327 .

cad §00F areiq 5 Geala @6R Gealciom 16, 24, 30,6 32 QI QR4 609 ?
(A) 475 - ()0
© 185 (D) 490

) 5 4
Find the value of S TS
\F—\/EQWM £R6Q 7

4 5 o

(A) 1 () 55 W 1= (D)

|-

uil

2y
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£ 5 | 9
39. If a + b? = 80 and ab = 32, then find the valye of £ 4 2
; ' a b

; .
oF B
(C) % (D) can not be determined
gﬁa2+b2=80\7@°ab=32,6®6@%+%GQGG? | |

BUSE (B):

L ©3 (D) Rl @Q6ee QI

40. In an examination, there were 600 boys and 400 girls. 60% of boys and 50% of
girls passed. The percentage of candidates that failed is :

Y@ ONSIER 600 QIRR YQ° 400 ARG E6R | G9Q01 60 ARG Y9° 66901 50 AR
aISIca QAIE CRGA | €06R E9RQI 6o glail com 6Q6R ?

(A) 40% (B) 44% (C) 50% (D) 55%
PART - 1I
GENERAL KNOWLEDGE : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple

answers.

#1. ‘Huma’ in Sambalpur district is well known for which of the following ?

(A) Majestic Waterfall (B) Hot spring

(C) Reservoir (D) Leaning Temple

AnRde Fuig AlRgR Bqia “QAl” ceagdla AR9e 7
(A) FQUCRIL @RI (B) a&dq@sdl
(C) R0 (D) @] FI4Q

42. Consider the following personalities of Odisha :
I.  Justice Ranganath Mishra |
II. Justice ’Ananga Kumar Patnaik
III. Justice Deba Priya Mohapatra
IV. Justice Gopal Ballav Patnaik

Who among the above personalities have been the Chief Justice of India ?

(AT & 11 ‘ (B) 1 &IV
O &IvV (D) 1 & 111
CRE-2021/4 ' . PT.O.
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GRUIRQ QNN QIR FI SR eI
L QOIS Qe iy

L QOIAAE TR QIR LRI

L QQIQUS GRaLL SIS

IV, QOO GUIIRNRE R

WIGWIW \\‘\‘\\\i\\\‘. IRt ”‘\N\“}_ (\\l\‘\\‘““(-\\\ (SIS AN ‘u\“o‘l(n‘l(_l"()‘ («;n](!m ?

(A Tve il () 190" 1V
() Qe 1v (D) 199 11
43, Tides are caused by eravitational |u||l(»f the
() Barth on the Moon (B) Earth on the Sun
(C) Sun and Moon on the Earth (1) Moon on the Earth
QIR CRHIGHENICL PIRND QIQEQ GEIN Ltk @ 7
(A) TN 9Q Qe (13) IR (et QeIea
(C) AT & QQQL LN QU6 (D) VG AN QR
44. Dayananda Saraswati founded :
(A) Brahmo Samayj (BB) Arya Samaj
(C) Prathana Samaj (D) Bahujan Samaj
QUIRQ QYO K6 gOsl Gadicn 7
(A) QIQ, QellQ (13) 2 @
() IR Al (D) QQER AP
45. Who among the following died inexile ?
(A) Rani Laxmibai (H)lHMHdurﬁhMIZuﬂw
() Tatya Tope | (D) Nana Saheb
FrRdie T WY Gl CRIaac Nt
(/\") QN snmigiaiolm S ) QINQQ Gl Qe
(C) QAR L6 (D) Q1D QR
46. Which (ales are related with the painting and seulptures of Ajanta caves
(A) Panchatantra Tales (1B Pentamerone Tales
(C) Jataka Tales | (D) Hitopadesha Tales
AR GIINGR QI GQNWI G ClAINGN (R RIGH Celenc, 7
(A) QFIQG SIs6l (I3 CAIGSICRIR. aiglen
(C) QIO QIGI6N ' (1) QG141 Qe
R1-2021/A
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47. Name the place located at the confluence of Alaknanda and Mandakini rivers

(A) Badrinath (B) Rishikesh

(©) Rudraprayag (D) Devprayag
IRRIR0I G FARIFRT AV AU LRQ AIA G 2

(A) QQ1Q1e (B) Q864!

(C) Q@ galdl (D) 699 gougl

48. Match list I with List I and choose the correct answer from the codes given
below the lists.

List -1 List - IT
(Dance form) (State)
a. Bharatnatyam ' I. Tamil Nadu
b. Kathak 2. Kerala
¢. Kuchipudi 3. Andhra Pradesh
d. Mohiniyattam 4, Uuar Pradesh
Codes :
abcd | abced
(A)2143 (B) 1432
(C)4321 | (D)3412
OIReI-1 @ GIAGI-1T 48 671R 88 et 980 6010Q a0R QAR QIR |
clAall CIRQ! I
@6y (Qua4)
2. QIABRISHA I QIAReIQ
b. Qe 2. 6QQW
c. Qbad 3. 299604
d. 6AIRRIRICE 4. QL4
abef abed
(A)2143 By L4 3
(©) 4321 . (B4 1L

CRE-2021/a P10
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49,

50.

51.

52.

" (A) Goa

Which of the following pairs is not correctly matched ?
Revolution Related to

(A) Golden Horticulture

(B) White.. Milk

©) Blue Poultry -

(D) Green Agriculture

AARGS AeNQ cadd ada cald Qe 7
qge Q&6

(A) Qe Qe Q8

(B) 640 Qe

(C) M@ AR g8

(D)gee Q8

Whichi of the following pairs is not correctly matched ?

States Main Language

(A) Goa Konkani
(B) Meghalaya Khasi

(C) Nagaland Angami
(D) Sikkim - Tibetan

ARG AQ €2a6 a0a 6ald @aR ?

Uy Qelaus
(A) 6allel qallaS]
(B) 671QIRL, alia
(C) RISIRIE, poilel
(D) Gda Geaqlq.

The state having shortest coastline in India is :
(B) Kerala (C) Odisha
QISR S90F 666as! Ql QR

(A) 66112 (B) 6Q9% (C) 63l

(D) West Bengal

(D) a8gogr

Who is the Supreme Commander of the Armed Forces in India ?

(A) General of Army
(C) President ) -
Q06 cAaUQITMA A6Qle 6ARIR QY 7

(A) 2RcaR! F6H (B) 9808 cay
(©) QIgad (D) QORI

CRE-2021/A
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53. Which one of the following Jumdlctmn of the

Interest Litigation (PIL) ? Indian judiciary covers Public
(A) Appellate jurisdiction

R (B) Original jurisdiction
(C) Advisory jurisdiction

r el (D) Epistolary jurisdiction
QO MIIINAIQ ARSY C8OUAIQ R ade eecas Adcaan QIoIR
238 ? - -

(A) 9A99IQ 68QUAIA

(B) §eq sspuala
(C) A4 689URNQ

(D)0 anma cagueia
54. Who is the present Director General of World Health Oreanisation (WHO) ?

(A) Lee Jong Wook (B) Gro Harlem Brundtland
(C) Tedros Adhanom Ghebreyesus (D) Anders Nordstrom
34 Q184 AE0RA EAINA ARIRcTaR &Y ?

(A) @ 6QIE-QQ (B) 69l QIQEAA QSRS
(C) 656Q14 ZRIIEAIA 6A6Q6aC (D) 21404 FEEss

55. Which of the following taxes is levied by the Union and collected and
appropriated by the states ? '

(A) Stamp duties (B) Passenger and goods taxes
(C) Estate duties (D) Taxes of newspapers

AORGe Mg 6ad CHIRd AIRe AARIaF QIal FRIA0 QY Ye° IRt AaRIee QA
2191g 99° 968 QY 7

(A) &°d @48 (B) €ledR ve° g0d NIQq
(C) @685 o4& , (D) GYIQEAd 2P Q4@ 6aEQ

56. Which of the following Financial Institutions is the source of credit for small
industries ?

(A) IDBI (B) SIDBI

(C) IFCI (D) NABARD

AARGIO FNg cael aaf Aalaaien @l §08R A ¢ AaleR ag 2 ?
(Aea § Qe (B) V@ 2Ia @ § &R

(C) elm e d 2a » (D) QIQIE

57: The Indian Railways has launched an App to help the passengers. What is the
name of the App ? '

(A) Rail Sahay (B) Rail Seva (C) Rail Saral (D) Rail Madad
Qlee1a can AISIAIRE gRuIds 2188 AAZIRI App & Q1A @8l ?

(A)6QR dQl,  (B) 60w 649! (C) 6@9 o (D) 62 aQQ

CRE-2021/4 P.T.0.
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58. The world famous Navakalevar of the deities in Lord Jaganhath Temple of Puri
takes place in which year ?
(A) Two conseeutive odia month of Kartika
(B) Two consecutive odia month of Bhadraba
() Two consecutive odia month of Aswina
(D) Two consecutive odia month of Ashadha
Q1 38 90 ceqae ATaR €961 AIgaR Bagde peecan ad od Q1 7
(A) QRIS QU QG KRG A196a
(B) QAIF0 GG 6A101 QIQQ AIg6Q
(C) §AUR0 GRul 6ol AR FIaca
(D) QA0 GG CAII BASIR AI96Q

59.  Who is the first Non-Indian to receive the Bharat Ratna ?

(A) Mother Teresa (B) Nelson Mandela
(C) Khan Abdul Ghaffar Khan . (D) Amartya Sen
6RQ FEQEN QTR gelf QIeaE AIRficR ? _

(A) FQQ 66604l (B) 69940 68
(C) dIQ 299 SN SllR | (D) A6 62Q.

60. Which country was the champion of Men’s FIH Hockey Junior World Cup-2021?

(A) France (B) Germany (C) Argentina - (D) India
(A4 606l QQE Ve IR Y6, QF @Ruq 4 9d -2021 @ *Faln coladial ?
(A) 91ed (B) @Al (C) 2R &a (D) Qa0

61. TFor which book Dr. Prativa Ray got Moortidevi Award ?

(A) Shilapadma (B) Yajnaseni

(C) Punyatoya _ (D) Chandrabhaga O Chandrakalg
08 96Ql QIEL 6AQ Q9R A1 RTee1 gaIa aIdicn ? .

(A) NRAQ) (B) QIR6qe

(C) deneala (D) 2QQIl 6 9QQq!

62. Name the India’s first multipurpose Satellite ?

(AAGE QIAEQ gas QAL QagQ ?
(A) IRS-1A (B) CMS-01
(C) IRNSS-1B (D) INSAT-2A

CRE-2021/A
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63. The source ol cnergy of the sunis dug (g

/ e ar < ‘\.‘ .
(A) Nuclear Fusion (B) Nuclear Fission
(©) Collison of Atoms
qal 63Q aga Gled 6Qas
(A) RIROQ QNG

(C) CQFIE AR

(D) Chemical Reactions

(B) Q194Q Galen
(D) Qlaigfe goaa)
64. Decimal system in India was introduced by ;

(A) Aryabhatta

(B) Brahmagupta
(C) Bhaskara

(D) Medhatithi
QIQ06R 0aIie a8 QIQl QA BIas equsiadial 2

(A) A0ies (B) 9249
(©) QU= (D) &niIBe)
65. Which one of the following Bills must be passed by each House of the Indian
Parliament separately by special majority ? '
(A) Ordinary Bill , (B) Mon‘cy Bill
(C) Finance Bill (D) Constitutional Amendment Biil
ARG AMiQ € Ba QIAL1E 4°EeQ geeie gaca 4ea aleca 99 arsHica
Qe €09l agal ?
(A) ARIQS QM (B) O& QR
(C) 2idle an) | (D) aFfuie adedle anma, 8n
66. Which one of the major rivers of Odisha does not have delta at its mouth ?
(A) The Mahanadi (B) The Brahmani
(C) The Rushikulya (D) The Baitarani
GRAIR A PO1 Fle® PG Q6 941 QISR YERAISIET Q1Y 7
(A) 711991 (B) Qlaam
(C) adiga 5 (D) 6398
67. Who is the present Chief Executive Officer of “Twitter’ ?
(A) Satya Nadella : (B) Anshu Jain
(C) Parag Agrawal (D) Ajaypal Singh Banga
QAR “Twitter” @ 76 AAQIRS @ 7 o
(A) €04 QIGoRl (B) &¢ 64a
(C) aquet ag@Im (D) d@gdim &° Qek

P.T.O.
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68. Amcm0 the following which Odia movies jointly won the National Aw‘ud in the
67" National Film Awards ?

(A) Sala budhar badla & Sri khetra Sahi Jata
(B) Kalira Atita & Sala Budhar Badla

(©) Kalira Atita & Sri kKhetra Sahi Jata

(D) Sala Budhar Badla & Aadim Vichar

FARSie AQ «od 6lal 0rda QB8 67 0 QIYO 0AUIR Qdesa ARe aI6
QYA Q0AQ aRfisn 7

(A) Rl QRIQ QA Ve 1689 A QIe
(B) QIAQ ARIO Ve Rl QUQ QAW
(C) SIAR ARG Ve EqQ A aIe
(D) 931 QRIQ QQR Y&° AGA F0IQ

69. Which city Government has become the world’s first government to turn
completely paperless ?

(A) Moscow (B) New York (C) Dubai (D) Beizing
JEYURIQ €A QAR AARIQ gaA @4 AIGE M QNI AGEI0 CQIA] ?
(A) A6 (B) foae (©) QIR (D) €GP

70. The Amazone Reef is located in which Ocean ?

(A) Pacific Ocean (B) Indian Ocean
(C) Atlantic Ocean (D) Arctic Ocean
2RISR QAP 6QQ AQIAINRLR AQEE ?

(A) 991 AQIAINQ (B) Qe F1dIeQ
(C) 2ACRIER AQIaIQ (D) €INGR FQIAFQ

71. The national initiative named “Kayakalp® was launched by which ministry ?
(A) Ministry of Science and Technology |
(B) Ministry of Agriculture & Farmers Wellare
(C) Ministry of Women and Child Development
(D) Ministry of Health and Family Wclfqrc
“CQIAIRR” RIFQ QUG 6aIRR! 6eQ ARG QA A7 FAUAIRE ?
(A) @8I0 6 gg@ Qo4 AREIRG, -
(B) 9§ 6 98¢ Qgf AasIag:
(C) A G g Qe AREIRG
(D) Q24 G AL a6l AGEIN )

CRE-2021/A

Page - 15



17
72. Which of the following categones of the im
the temple of Odisha ?

(A) Asina Ganesh

ages of Lord Ganesh is/are found in

(B) Sthanaka Ganesh

(C) Nrutya Ganesh ‘ (D) All of the above

ArAdie Aug QEIAIR CISIBER Ceq gaia qal cBaia fda leaea cadalg
Aea?

(A) 2 GIeaIs (B) 809 ka1

(C) 961 clesId (D) Q06019 999159 -

73. Who amon° the following became the first Malty1 (Saheed) of Odisha during
British regime ?

(A) Veer Surendra Sai - (B) quee Rajguru

(C) Laxman Naik (D) Raghunath Mohanty
FaRde g a6 109IR6R GREIQ geint agie @Y. &em ?
(A) 1Q 460 I : (B) o<l QIG9IQ
(C) A8 QIS (D) QgRlel AQIg
74. ‘Rengali dam’ is built over which of the following rivers ?

(A) The Brahmani (B) The Mahanadi
(C) The Baitarani (D) The Rushikulya

| 60EIR1 @9 AAAGE ANIQ cRa A1 agsa Aala calad 7 -

(A) Q16N (B) QIO

(C) 63908 | . (D) afqa

75. Originating from Chhotanagpur plateau, the river Brahmani enters Odisha in
which district ? ‘L |

(A) Keonjhar (B) Sambalpur (C) Sundargarh - (D) Bargarh
616 QIEIgQ AIRQFQ Qg cala QIgs! 8 GRAIR 6AQ GRIER TEQE Q6Q ?
(A) 6228Q (B) dARdQ (&R (D) @QQIQ
76. Which of the following sanciuariés in QOdisha is also known as ‘Turtles'
paradise’ ?
(A) Bhitarakanika Wildlife Sanctuary (B) Kuldiha Wildlife Sanctuary
(C) Baisipali Wildlife Sanctuary (D) Gahiramatha Wildlife Sanctuary
6R4IQ 9?}@%1@ PO AN “Qayl @QL@” QER QY AQGQ ?
(A) Qeaedal 248N daas (B) QRGQI. 2@1gI4N BQIQ8H
(C) e@diaiA aavgIen Aacias (D) Qgenel @@dIsh AQUQE!
CRE-2021/A P.T.0.
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77. The place ‘Inchudi’ in Balasore district is famous for which of the following 7
(A) Massacre during frecdom struggle  (B) Salt Satyagrah
(C) Gandbhiji’s first arrival in Odisha (D) Scenic beauly
QSRR GRIQ @nd FAAGe i cradiaa gda ?

(A) 4INRQI Aoglifl AAaQ G181QG! (B) A&l CIoHIGlQ
(C) JIQIR geIA GoEl 2GR (D) Q1€ calngd

78. Which of the following statesmen is associated with Bhadrak district ?
(A) Biju Patnaik _ (B) Dr. Harekrushna Mahatab
(C) Janaki Ballav Patnaik (D) Nabakrushna Choudhury
QARG PG €Qa g8 @18 Qo Gl 49 <ge ?
(A) @@ deRIaR (B) 08 Q6QQ& A0
(C) QIPQ1 9RQ J9RIa (D) 999& calya

79. Which of the following places is known as ‘Biraja Kshetra’ ?

(A) Jagatsinghpur (B) Jajpur . (C) Cuttack (D) Bhadrak
RARGIO RNQ 6AG 2M1e “GaRl 686 QI ?
(A) e9edega  (B) dIeda (C) Q6] (D)

(.3

Q6

80. Which of the following folk dances is mostly popular in Kalahandi district ?
(A) Chhau (B) Ranapa (C) Ghumura (D) Ghoda Nacha
BARGS AUQ 6REl RIEET aRIQIE GRIca gelde smeda, ? '
(A) 8@ (B) «sldl (C) 99 (D) Q19! QI¢
PART - 11
ENGLISH : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read 1)e
mstrucrlons carefully and answer i the questions by selecting the most appropriate
amwem out of the multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/mmultiple

answers.
Instructions for questions No. 81 to 85 :
Fill in the blanks with appropriate and correctly spelt words.

loss to the country.

81. Gandhiji’s death was an
(A) irrepairable (B) irepairable (C) trreparable (D) irriparable

82. The patient is admitted in hospital for acute .
. (A) diarhoea (B) diarrhoea (C) diarrhia (D) dvrrhoey

CRE-2021/A
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83. The boy was punished for

it of similar mistak
(A) repitition (B) repeatation Istakes,

(C) repitation (D) repetition

84. Any or
(A) ommission, commission

(C) omission, comission

In the affidavit will attract penalty.
(B) omission, commission
(D) ommision. commision

85. The terrible news of Indira Gandhj’s
lightening across the world.

(A) asassination (B) assasination

—_ spread like a flash of

(C) assassination (D) asasination
Instructions for questions No. 86 to 90 -
Fill in the blanks with correct form of the verb.

86. A pair of shoes lying in the corner.

(A) are (B) were Q) is (D) am
87. Itis you who cheated me.

(A)is (B) has (C) was (D) have
88. Neither of the boys ___ won a prizc.

(A) have (B) has (C) was . (D) are
89. Sixty years a long time for a country to grow and prosper.

(A) 1s (B) are (C) were (D) shall
90. Thecrew ___ rescucd from the sunken ship.

(A) was (B) is (C) were (D) am

91. The word ‘insolvent’ means
(A) rich -~ (B) dangerous (C) notorious (D) bankrupt

92. Morning shows the day.
(Choose the ap'pfopriznte Odia meaning of the ;11)_0\’9 English proverb)
(A) 2iel 2aga a9 | (B) 6RA1 0RAGQ Q164 |
(C) 60IQ AR RS FIQIA | (D) UQ QI& QR GIEE |

93. He was born with a silver spoon in his mouth.
(Find out the appropriate meaning of the above sentence)

(A) He was born in a rich family.

(B) He was born in a poor family.

(C) He was born in a middle-class family.

(D) He was born with congenital disorder in his mouth.

CRE-2021/4 b
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94. AP FIOERER IV |
(Translate the above proverb in Odia into English.)
(A) A penny saved is a penny gained.

(B) As you s'ow, SO you reap.
(C) Take care of the pence and the pounds will take care of themselves.

(D) Il got, ill spent.

95. Raja Ram Mohan Roy was an atheist.
(Choose the correct meaning of the underlined word.)

(A) reformer (B) rebel
(C) believer in God (D) non-believer in God

Instructions for questions No. 96 to 98 :
Fill in the blanks with appropriate prepositions.

96. Beware the pickpockets.

(A) from (B) of (C) into (D) at
97. I prefer death ___ dishonour.
(A) than (B) from (C) to (D) in
98. He could not comply my demand.
(C) upon (D) against

(A) to (B) with

I could not lay by anything for future due to my family compulsions.

(Choose the correct meaning of the underlined phrase.)
(B) utilise (C) gain (D) plan

99.

(A) save
100. The Commission decided to abolish the prevailing system of recruitment
examination.

(Choose the appropriate phrasal verb of the underlined word)
' (B) deal in

(A) deal with
(C) do away with (D) put forth

Instructions for questions No. 101 to 103 :
Find out the sentence which is grammatically correct, .

101. (A) He is senior than me by two years.
(B) He is more senior than me by two years.
(C) He is senior to me by two years.

(D) He is senior than me for two years.

CRE-2021/A
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102. (A) I as well as John is to blame.

. (B) I as well as John are (o blame.
(C) 1 as well as John were to blame,

(D) I as well as John am to blame.

103. (A) Lion is beast of prey.

. (B) Lion is a beast of prey.
(C) The lion is a beast of prey.,

(D) The lion is the beast of prey.

104. ‘Autobiography’ means :
" (A) The history of the life of a person
(B) A record of one’s life written by himgelf
(C) A piece of writing or speech in praise of a person
(D) A person’s own hand-writing ’

105. Happiness or sadness is transitory in human life.
(Find out the correct meaning of the underlined word.)
(A) permanent (B) pre-fixed (C) short-lived (D) inevitable

- 106. A person who lives at the same time with 'another -
(Substitute one word for the above)
(A) contemporary  (B) accomplice . (C) activist (D) adjutant

107. Prevention is better than cure.
(Choose the correct part of speech of the underlined word)
(A) verb (B) noun (C) adjective (D) adverb

108. The man was beaten black and blue by the villagers.
(Choose the correct meaning of the underlined phrase)
(A) slowly (B) moderately (C) severely - (D) occasionally

109. The statement of the Principal was communipated to all in M
(Choose the correct meaning of the underlined phrase)
(A) writing (B) speech (C) vain - (D) protest
Instructions for questions No. 110 to 112 :

Transform the sentences into Indirect speech.

110. He said to me, “May you be happy-”' '
(A) He said to me that 1 may be happ}’(
(B) He wished me that I might be happy.
(C) He wished me that you might be happy.
(D) He said to me that I might be happy.

CRE-2021/ PO
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111.

112.

113.

114.

115.

Rama said to me, “Are you going there?”

(A) Rama said to me that you were going there.
(B) Rama asked me whether I was going there.
(C) Rama asked me whether you were going there.

(D) Rama said to me whether you were going there.

The teacher said to me, “You are wrong.”

(A) The teacher said to me that you were wrong.
(B) The teacher told me that you were wrong.
(C) The teacher told me that he was wrong.

(D) The teacher told me that I was wrong.
sun rises in cast.
(Fill in the blanks with appropriate Articles.)
(A) A, an (B) The, the (C) The, an (D) A. the

- What is the feminine gender of ‘fox’ ?

(A) bitch (B) ewe . (C) heifer (D) vixen

The room needs repairing.
(Change the voice of the sentence.)

(A) The room needs to be repaired. (B) Repairing is needed for the room.
(C) The room is being repaired. (_D) The room has been repaired.

Instructions for questions No. 116 to 120 :
Read the following passage and answer the questions given below,

Socrates, the great Greek philosopher. stayed in prison for thirty days before he
was finally executed. During this period of confinement, his friends g pupils
used to visit him regularly. They always found him in calm and cheerful mood
He talked and taught his pupils as usual. He had no fear of death. OQpe of hi\-
pupils bribed the jailor to let Socrates escape from the prison. By S()Cl'illc;
wouldn’t. On the day of execution, his friends and pupils were in tears: but e
was seen calm and cheerful as before. The Greeks used to execure )
making them drink a deadly poison called ‘hemlock®. To every bo
surprise, Socrates took the cup of hemlock and drank it like a gluss of |, ater
last, Socrates went calmly-to death without weeping or complaining. '

People by

dy's ey
Al

116. What is the meaning of the underlined word in the passage

(A) unhappiness (B) excitement
(C) imprisonment (D) depression
CRE-2021/A

Page - 21



117.  How did the friends and pupils of Sg¢;
(A) angry and agitated
(C) worricd and sorrowful

ates find him in the prison ?
(B) calm and cheerful
(D) dejected and unhappy

118. How did Socrates behave with hig pupils
(A) talked and taught his pupils as ugyg]

(B) did not talk and teach his pupils
(C) told his pupils to arrange for hig escape

(D) did not behave well with his pupils

in the prison ?

119. How did the Greeks execute people ?

(A) by hanging (B) by beating

(C) by beheading (D) by making them drink hemlock

120. How did Socrates face the death ?
(A) calmly without weeping or complaining
(B) angrily protesting
(C) crying and shouting
(D) repenting and cursing
PART -1V
_ ODIA : 20 Marks
FeAAION 1 V@ QIEIQ gEHe g4a a0q_aaq a1 v& A1 038 | Qease dege
4o d9aleq degvue° ¢ 96 QIR QRLrIea AtiQ d6RIAn Qa9
aagl -
QR Qe &9 valkie aae aia g4 €8l 0.5 16 6REIN deayel aaude |

121. 0q Q@ qiai f9AG6 QIia gaY 4Ip 9asl 89 |
Rl R— M3 Gl6r FCROIQ QI8!
(A)ziels ga  (B)ete gel  (C)6Ieq Gked (D) gende

122. 01 AIG6R 619 A1 QIF ~ CRIRAISIR 2El @6l 7 |
(A) 263 QR €2¢R 01 quId @ A& (B) Q6Cli6l 6a9q &kq 2isa @1
(C) aa@um ARese 6aal (D) @6& (168 Q8 QQQ

123. “2dgeana” aeq a2l g ?
(A) QIQ1 QR 9V Q17
(C) €1l 23419 @ QY Q1§

(B) G1Ql £160 Q& QY AIQ
(D) €IQ! dQ¢ KRUAIRNER RIF

124. 7164 g6q 690 €Ua Glaa AIRRl ALY, 019 G°AIG1ER K8l QRILIYT ?

(A) post-partem  (B) post-mortem  (C) post-natal (D) post-nuptial

CRE-2021/4 PT.0.
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125,

126.

127,

128.

129.

130.

ARde 6oal a2l Ve cFe0dia e Qeg 7 N
(A) diqd (B) QQIQY (C) 601G (D) gl

FIRES cad QIiE vo 6Ide Qla 2ce |

(A) &A1 AIGOM G99 A58 | Q4T |

(B) 2RI 6060696n Q6q aQEicn, 6466696h w6a o0 Q8ml |
(C) A6RIR cgencq adml, AIg adaitm I |

(D) @RI ArIaeq 60 Ay [6Q, 91 gge @9 QRN |

49 61QG Qg | _
(A) A0l (B) 6010046 (C) QIleHol (D) 6Ll
QUG €@ “Inhabitable” @ e Q& 7

(A) Q@9 62lloH

(B) Q@QI 216216

(C) 2Q Go6a Eel ceen

(D) 62606967 Q14 60ISH @ 6RCREAEH QId Zcalie

§9-g34a gl ca1Gd alg |
(A) Zel-apel (B) 47Q-416Q) (C) 4ed-4aa (D) M190-dlgg

6@ 2197 2dQIg, QRAIQRIAINE 1A afe ?
(A) eadd g1~ (B) aglelge © eafeid (D) aefalg

d. (131-135) GAIAGI6 AQ6Red 0@ a8 @2 |

2190 IR g8ela 2aaIRele Afle @del 886, 6aco QRIKIR A9l ¢d olg)
CAIRQIQRIT; Q6r AQEH ARENE ANica G8R 9RIAQ BN 0B0IAT | Gegg o)
AR O@Q AR UAFINGIQ SR Q6 90 6QIA 6RIA QIRE | 69¢ QQBI Fl @
dIa] 1Vl 6aen AQEY AQEY §o6a Q6R. QIR - QIGY 6 (oe-cog Ali6q ﬂ;l{
QQOING | WecEa AIFeRR cRIadAl Q4 AAAIRGl Geald 9099 ¢q A6e deq
VQlg Q6q86 9Q Vel Fedia adfe 6RIARE “Uine QARG Afla” @ ﬂ(;
Fedele QAlA QlRcan Y9° Ade 2dMER &HIQ; dead, IR g Sl
QRFMIR | VAR Gga G cQdq L 8 AAQ AR @] Slafeliotaltay gg/“al‘
Q384 | dag 99 cowia, 84 GRETHIA Q0 GOFH YelcRIG Fao

5 5 ofd 9 Qalq
9g9Ia anq Zion 89 goe0 AR AGE | AMARER eneTIq B ()

~ o N @ A6
r8 6ord aig, aqed | €0l 2aree! 6896 Y7 99 aigq Y99 | Soagor
AIA06R danipela Begl 8f ANER AR A0AIT ce aiF | R eaideq
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AW JAQ Y9° 6@60 ¥R EIQ@IGG{’ a@ agﬂlg cO8” CaId el Beliad |

i Bg, @qa8 99 §0F4 | e Q@am 199 89 GIOI"Q Q@élalcacn ¢ gieo
80 €01°61Q 2R CAIRE Al QG2
Q1010 2SR AIg €M §9rd | AHARE 86 ey oicq pcal A6RI8RR 96d, 96
CACIER oIl 2RY 6Q6IQ CRIRE ARRIEQ SIRQ | CaRIRE BRGER G010, 2T 19
9¢.8 Gore @ Q@8 | AR AaQ codicn coaq CRIRE AIYEQ 2IaQ daniacle
ARM 2lI6A Q@R QREIARI | 9090 6q Qlaeq 904 eadraiie oide Qb
Q01 AL 9 M CEIQ AAIM BRI 1ZQYa86q a1 00 §9Ird crlee QIR 2Ig,
00.9 AN CAIREIA! 66R Q7] 80 GBIGE B0, Al 89 QIO G6 | ALAITER 699N
210 6 ARCAAR ARG slaIRaIT, oer Ao ddaieel Geca e e
deiaiad | 2Ifl C8Q Y9 QQIQRS €A%l | &Ie Qleta BIag or dolrd & AGR
| " - . | & Sl ¥ el
gaQ adald, gigl QgQ SN Q4R GQIGNAIRG! IFHNGItR CaeR Vel Q4Res
(28 H)6ARTACIER 010 4T6asa a9 equaadiel Va2 (90 %) QRAICA AN
Y@l Q6 | vdQ daaiRelq JeI AfIfe, 22titn ¢ QesEta gale Q@8 1694Q
A9 80 QI GRARIQE GAIF 210, 6 PARA 6R9% YR FQ AFIA 2°6NRIQ 6QIR8RIQ
6AAICR 689 | 699 AARIQE A0 e HUQaIeR sl ¢ gy 811@ Q80909 60a g@ -

Qe 6eMl, Y@ 2afIAela gale ad agely 6161, qgm ¢] g@@d QaER | VAIRE
el § 2R 618 AfIGe gaca A addiecla 9dalQ AR 2QQE 624
IeR | 90 @@?i@l e° CSIQQ @8l 64 6941Q C°aaa 69461 QI 6 URT 6RIR
disica. Qa8, casice W6e cod Gese QeI ARl €94 €dAlEe Q0d
QeI @GQIq aRIae @Qdql COUITIQR | 6afIcR  Q6REER 6RaR 6RI0IQIG
SQAIQIA, 690I6Q M GYQCIE, QIR 8 goafaIf 9Qe8 | €A9R PafR A1
28, de1Igfca s cagflen A1 arlier FeH F6REQ 99 Q9 AN G MR

2deq quad @Q@I@ QGOQ@ FIe88 | Qe CAAIRE 62Q1Q Q%i@ 6@@@ I

131. QI§9m QAR @Y ?
(A) GIAB RARQIAT AHIQQ ERE@
(B) 4lsTe ARAQIAF qleq @ Aedea
(C) @e8 Qs GRdIa |
(D) @66l Qéiey ATNER
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132. QOO &AIG RIFE 2GR 6RES §101°¢ aBIAIRE 71 ongens ?
A O ’ "/
(A) 18% (B) 57% (C) 29.5% (D) §2%

IR
g !

133. QG6AIS 0A6RAEA AERI 6aREA AARIAG! Aeald 6ael ARIACE 2b a6l
(A) GQ 6Q4Q SIORUC, ERIIAEA
(B) &G €Q6IQ URFIGR ARIAER
(C) 38R €04 Al 6 2°AE URNIAWR
(D) 3AR 604Q ARI-AQE Q0 21N

134. 0Q QIYE QI8 |
(A) B4R 0 §II°6 UNEAINE ClISlea FgQ 89 §QIE Coad 22 |

@G @R |

(B) QIQOQ URT @ gR4Ie CAIQ-AAG 606Q BIEQ 99 §eI%dl Celt
(C) @@ (A) 6 (B) 0] |
(D) €266 @ 09 Q&Q |
135. QOO 6RA CRISAINE 6d91Q 986 @ad 7
(A)de1 G &1 (B) 0R1QIQ & QYQ4ILN
(C) 84, AR & goasl (D) QQQAINGR
136. “aficla® 96 g2 960 ¥ AAQ 69IRRR V] QI6a @al /Y ?
(A) 9609 (B) € (C) @9 g2l (D) @AQIQ
Q@ adal, “F a1l cass QIR | V& geig &g Jeals A86Q AQ60 @ |
(A) 28 Q@al ¢ QI8! 6aed Q1@ | (B) Q8 QG 6a6d 1T 6QIA QER |
(©) ¢ a1l cacel AIT 6IA @@l @2al | (D) Q8 €11 6o6d AT 6RIR ¢ 23A |

137.

138. QR 6@ Zal QIRIE QI8 |

(A) @R QIF @6R Geela ARSI |

(B) @Rfld 2IcAdal 2IQeia aQdlem |

(C) €61 Ga 6alq 64 AQBIAER QIRAIQ AIGER |

(D) fle Gadial caiq 6a Q1AQ 9RO 6acR |
139. @6 de 9adQg QI8 | | o i

(A) @ielq, G591 (B) ANaiq, G86eT (C) sRIQ, dsagn (D) Fqig, Sao
140. “qlRGg COR QI cAIEIRE HIR of U I” V& QIR6Q 6ageId A0 gQ U 9

(A) 1 (B)2 3 Dya
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141..

142.

143.

144,

145.

146.

147,

148.

(3]
~1

PART _ \Y
COMPUT ER: 49 Marks

Instructions : Each question under th; S Part cqrri

. ! . : arrie;
instructions carefully and answer the gy,
answers out of the multiple answers iy,

There shall be negative marking @ (.5

' s ONE mark. Please read the
Stions by selecting the most appropriate
below each g A B C&D.

mark per question Jor wrong/multiple

L answers.

The two kinds of main memory in a computer are -

(A) Direct ‘zmd Sequentlal. (B) Primary and Secondary
(C) Soft Disk and Hard Disk (D) Cache and Virtual

Wh?Ch.Of these programs will you choose to write a ’lettelr' to the head of an
institution 7

(A) Notepad : (B) Word Processor
(C) Spreadsheet (D) Graphic Processor
VIRUS stands for :

(A) Vital Information Resources Under Siege
(B) Very Important Resource Under Siege -
(C) Vital Information Resource Under System

- (D) Virus Information Resource Under Siege

What 1s the full form of e-mail ?

(A) Electric Mail (B Electromagnetic Mail
(C) Electronic Mail (D) None of these

Which platform can you use for online meeting ?

(A) Zoom (B) Google Mcet

(C) Microsoft Teams (D) All of the above

The crime of stealing a password is called :
(A) Spooling (B) Surfing (C) Browsing (D) Spoofing

WAN stands for a
(A) Wired Aré_:a Network
(C) Wide Array Net

(B) Wide Arca Network
(D) Wireless Area Network

Webpages are written using :

(A) FTP (B) HTTP (C) HTML (D) URL

P.T.O.
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149.  Unsolicited e-mail is called a

(A) Spam (B) Backbane (C) Newsgroup (D) Usenet
. . vy . = )
- 150. Which facility can you use in MS Word to merge and print multiple documents -
(A) Print Merge : (B) Mail Merge
(C) Print Preview (D) None of the above

151, What programme is used in MS Word to check the spellings ?

(A) Speller (B) Spellcheck
(C) Outlook Express _ (D) None of above
152, In MS — Word every command is available in :
(A) Printer (B) Letter (C) Menu (D) Software
153. Editing a document consists of reading through the document you’ve created,
then .
(A) Printing it : | (B) Deleting it
(C) Correcting any errors (D) Saving it .

154. In word, you can use Word Art to :
(A) Make Copics (B) Delete Text
(C) Format Text ' (D) Save Text

155, Wthh among the following print commands should be selected to print first 5
pages of document :

(A) Page Setup (B) Page Control  (C) Print All (D) FromLto_
156. What is the default font in MS Word 7

(A) Arial - (B) Times New Roman

(C) Calibri(Body) (D) Gothic Bold

157. One cell format can be copied to another cell by using :
(B) Format Setting

(D) Format Painter

(A) Format Showing
(C) Format Checking

158. In Excel, each sheet in a workbook is displayed as :

(A) Tab (B) Marker (C) Arrow (D) NOHC of these

159. ‘What do you use to create a char[ in Excel ?
(A) Pic Wizard (B) Chart Wizard
(C) Data Wizard (D) Excel Wizard
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161,

162.

163.

164.

165.

166.

167.

168.

169.

170.

In a spreadsheet, which button do you click to add up a serics of numbers ?
(A) The AutoSum button (B) The Formula button
(C) The quick total button (D) The total button

Which function is use to display the current date and time in a cel] ?

(A) Today (B) Now (C) Day (D) Current
Which function is used to join two cells in Exce] ?

(A) Join Cells ‘ (B) Merge & Centre

(C) Wrap Text (D) Align

In Excel, Columns are labelled as

(A) AB,C... (B) AL, A2, A3.. " (C) 1,2,3... (D) SASI, SBS2..

How many sheets are there, by default, when we create a new Excel file ?

(A) 1 (B) 2 (C) 3 (D) 4

displays each slide of the PPT as a thumbnail and is used 1o re-

arrange them.
(A) Slide Show (B) Slide Sorter (C) Slide Design (D) Slide Display

Which shortcut key is used to exit from the slideshow ?
(A) Enter (B) Shift (©) Alt (D) Esc

Which file format can be added to a PowerPoint show 9

(A) .gif (B) .jpg (C) .wav (D) All of these
Which of the following is not one of PowerPoint view ki

(A) Slide Show View (B) Presentation View

(C) Outline View . (D) Slide View

In PowerPoint presentation :

(A) Sound clips can be inserted but not movie clips
(B) Movie clips can be inserted but not sound clips
(C) Both cannot be inserted

(D) Both can be inserted

The slide that is used to introduce a topic and set the tone for the presentation is
called the : , -
(A) Table Slide (B) Graph Slide (C) Bullet Slide (D) Title Slide

CRE-2021/A P.T.0.

29

Page - 28



30

171,

172,

173.

174,

175.

176.

177.

178.

179.

180.

What is the default page setup orientation of slide in Power Point ?
(A) Vertical (B) Landscape
(C) Portrait (D) None of these

Power Point Presentations are widely used as :
(A) Note Outline for teachers (B) Project Presentation by students
(C) Communication of planning (D) All of these

What is the best way to create another copy of a slide ?
(A) Click the slide, Press Ctrl + A and paste in new slide
(B) From Insert Menu choose Duplicate Slide

(C) Redo everything on the new slide that you had done on the previous slide
(D) None of these

is processed by the computer into information.

(A) Processor (B) Numbers (C) Data (D) Output

Computer Virus is a :

(A) Hardware (B) Software (C) Bacteria (D) Freeware

What is Backup ?

(A) Filter an old data from new data

(B) Copy to save a data [rom original source to other destination
(C) Access data from tape

(D) Connection of one network to more component

What is called the starting up on operating system ?

(A) Entering (B) Formatting (C) Starting (D) Booting

What is the shortcut key for Refresh ? |
(A) F2 (B) F3 ©)Fs (D) F4

If the displayed system time and date is wrong, you can reset it using :

(A) Write. ~ (B) WriteFile  (C) Calender (D) None of thege

Windows displays various options to shutdown. Which jg Suitable gt the end of

- day ?

(A) Shut Down (B) Slecp (C) Hibernate (D) Restar
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